Trigonometric Graphs

1. Each graph below is of the form y = asin bx or y = acos bx. Write down the equation
of each graph.
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2. Write down the equation of each graph below in the form y =asin bx + c or
y = acos bx + c.
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3. The graph shown opposite has equation
y = acos(x — b) + c.

Find the values of a, b and c.
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4. The graph opposite has equation 1t /\ A
y = asin(x — b) +c. 110 250 ’

Find the values of a, b and c.
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5. (a) The diagram opposite shows the graph of 7'\ /\

y = acos bx +c. 6 B v=% 5
Write down the values of a,b and c.
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6. (@) The diagram shows the graph of
y =asin bx +c. --~H
Write down the values of a, b and c.
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(b) Find the coordinates of P and Q the points o
of intersection of the graph in (a) withthe -]
liney = -1. 57
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7.(@) The graph shown has equation y =acos bx +c. 1]
Find the values of a, b and c. ™ 5 /1;0\ i
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(b) Find the coordinates of P and Q the points of
intersection of the graph in (a) with the graph
y = 4co0s X. 1
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8. (a) The graph opposite has equation y = asin bx + c. 3

Write down the values of a, b and c.

(b) Find the coordinates of P and Q the points of
the points of intersection of the graph in (a)
with the graph y = 2sin x + 1.
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